BF —#& (A)Skm

NO K4 7Uh't Fh Z8 E] &
1 3208 kO B#® MEY'F AhER 33 B K (A)5km REERTEB
2 3207 sE ®0 vh'eny 35 HE &K (A)5km REARTHEBA B
3 2634 RS ®&— 493 )14 F 55 HE & (A)5km RE AR [E A
4 1 ZHA &t LAY 60 HE K (A)5km REATHE
5 2365 g FESE YYtE 3va% BE K (A)S5km NEER

BF —i% (AEHF:E10km

NO K% 2Uh T swnrs  TER 23l il
1 3132 i EEA W $ 25 HEe K (A)ERTF>EZ10km ARITA UNITED
2 3130 mE X&E NG 4n 24 B2 K (AETF:E10km ARITA UNITED
3 3198 R AE 77% Hbv 39 B K AETFEIOkm REARTHEIER
4 2374 FEIE Hth NIy Y YUY 45 Fe KR (AT F:E10km  42B0#HERK
5 3285 2K #=E hn¥ 4h3 26 FE K (AFHFEI1Okm  42B0HEERK
6 2 =l 7958 950 43 F2 K (AT F:E10km  42BNH#EHERK
7 3270 SRR | Y349y tn% 49 B A (A)ERTHTFE10km REARET
8 3278 2K ME yEAEIND VAR D! 38 B KX (AETHFE10km RERIET
9 8653 INFG A KER 1ZY Y9409 3 K & (ABBHFE10km HARIHEX
10 8427 HE HRE T b 9% 2 B A (ABHFEIOkm REARK
11 8413 sk EEA YATDT HbY 4 R KX (AEHFE10km REARK
12 8424 TSR K WYAVLL 4 R KX (AEHFE10km REARK
13 3006 KR =— g {47 37 B K (AFHFE10km 52
14 3 Wi & 3% % § U% 23 He X (A)ERTH F:1#E10km it AR
15 4 s EA 7% % b 21 B K (AFHF:1E10km FHMmETH
16 5 AT A&k /948 Y 22 Fe KR (A)ERTH F:E10km A

— L
BF & (B)5km

NO K4 7Uh't FE B E] &
1 3528 He EH# 4%h 3 1 B XK (B)5km ZERC
2 109 &0 EKEA LSV Il 1 B XK (B)5km £T5
3 110 INE B 197 b 1 B K (B)5km T£T5
4 3254 ET # 48317 3 B XK (B)5km 2 [ERC

= 15 s
BF =& B)EHFi1E10km

NO K4 7Uh't FE B 2 Al B
1 168 Al ZE Y )y 3 B X (B)EHFE10km RIS
2 188 R DA IVYT TAb 1 R K (B)EH FE10km BEATS
3 156 BKXK # V)% IZY 1 B K (B)EH F#E10km BEATS
4 1458 2% LA w7 7Y 1 B X B)EH F:E10km =
5 1462 E2 Ht DaFA" bEY 2 R A BEHFEIOkm =
6 1463 By IR ah" ang 2 B K BAEHFEIOkm M=
7 1468 EH  FKER #94 Yvh0om 2 B A BEHFEIOkm M=
8 1469 i BA 4% ok 2 He KX (B)EWF:E10km =
9 1478 ‘N | 9347 hoa 3 B K BAEHFEIOkm M=
10 1321 TH i YES b 3 B A BEHFEIOkmM FRES
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XMNOA—RIFDT THBLEEN, BF (BHER) . KF (FXF) DADHEEETEMNLEY  RITFHICLT
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BF b (C)4km

NO K% 7Uh't FE ZH LEF Bl
1 187 =EH & REEEVEY 2 K (C)4km HEH
2 188 = #EE 4y W 2 R K (C)4km h&EH
3 189 FE OER 7094 V% 2 R XK (C)4km pak=ss
4 191 EE fEEEe SEAEVEY 2 fE K (C)4km hEH
5 194 He Kb 4h 5 4Yy 2 K (C)4km hEH
6 6 BER A& h=8k na% 3 B XK (C)4km h&EH
7 172 RNE Zit 9F/) 74% 2 HE K (C)4km LR
8 174 2B BN aht Vo)A 1 B XK (C)4km LR
9 175 BEE 1K%F 7Y 5 a9k 1 H XK (C)4km LR
10 179 BB RE Bhyv VIrk 1 B XK (C)4km LR
11 124 BAX & NEN LY 2 K (C)4km LR
12 1703 T X Y4 Enp 2 K (C)4km AET
13 1704 B HEAXER ayn yav4nmy 2 B XK (C)4km HEH
14 1708 Hh I1Ef 41h Yaviq 1 H XK (C)4km AET
15 1710 5 A 91/ YIAF 1 HE XK (C)4km HEH
16 86 iR £ N7 vaghk 2 K (C)4km R
17 140 e BEaE YL A% 2 K (C)4km R
18 146 EE BE FEYNVER L kd 1 f K (C)4km R
19 260 EaRK X Ve IVEUL N 1 B XK (C)4km R
20 272 ¥ F0EH 7 hAT T 2 K (C)4km Z [
21 594 ®H E4&E hry 744 3 HE XK (C)4km KiZdb e
22 1717 KE BRXR 3tng F4y° 3 B XK (C)4km R
23 1721 HFE EX 1791 394 2 K (C)4km FER
24 1733 NAE K A7Eh MEY 1 B XK (C)4km FER
25 1728 AR % hik™ enb 1 B XK (C)4km FER
26 221 HE i 1791 Y 1VAk 1 HE XK (C)4km R B
27 222 Bk HNr I9HhT Yavak 1 B XK (C)4km R B
28 208 R EiK 1Y 4% 2 R XK (C)4km ol adas
29 211 LFER BN 9IYNG 4Rk 2 R XK (C)4km gl adas
30 210 E)Il BZER F3h9 F4Y° 09 2 B XK (C)4km R B
31 209 il RE YV B4 2 R XK (C)4km R B
32 207 E FE yubn W 2 B XK (C)4km R B
33 693 B#E X bht 734 3 B XK (C)4km K@y Es
34 1 KE #EX IR/ 194 3 B XK (C)4km &
35 114 —K XZ 17% 4" 44 2 K (C)4km BEH
36 115 R RE U4 Yagv 2 R XK (C)4km BEH
37 118 =# #l—8 b Y94F0Y 1 B XK (C)4km HE®
38 730 B & B AF 2 R XK (C)4km gl ee)
39 733 HNE B% L7%h y9h 2 R XK (C)4km gl es)
40 728 HE 1791 Y39 2 R XK (C)4km gl ee)
41 731 e B’X arth 394 2 R XK (C)4km gl ee)
42 746 XKE —I@ AEV DA 1 B XK (C)4km gl es
43 747 Tk M Tub Y I 1 B XK (C)4km gl ee
44 736 BR B (b3 vFh 1 B XK (C)4km gl ee
45 68 E FH 7Y 18 Y19 1 R XK (C)4km RUNT7 Y X+
46 69 KB Bt IR 4 14} 1 R K (C)4km RUNT7 Y X+
47 72 % —5 NI/ Tt 3 HE XK (C)4km RUN7 Y X+
48 70 BB #HE Y48 493 2 K (C)4km RUN7 Y X+
49 246 na  fErE hIrF 1% 2 HE XK (C)4km L &R eh
50 1070 £H BH 195 nb 2 B K (C)4km FLEEHEF
51 1067 A EX DFAN 39474 2 HE K (C)4km FLEEHES
52 1082 RE EZiE VRV 2 HE XK (C)4km FrEEHS
53 1065 wE B3 Y/ WHah 2 HE XK (C)4km F 1B
54 561 MFEKR B ToEN Y2y 3 B K (C)4km it
55 562 ®iEk 1518 b 19% 3 B XK (C)4km ZithEgh
56 814 R & +hng a9 2 B K (C)4km it
57 817 KH FIZE Tha yotd 2 HE XK (C)4km it




58 89 B 2R YIHE a4 1 B XK (C)4km ithE o
59 92 HE B{E 450 oYy 1 R K (C)4km FithEgrh
60 20 aN FE AVLT 17 3 R XK (C)4km RERPE[RE P
61 21 Bk HER #4309 2 R K (C)4km RERFEESP
62 22 FE  BEA +h) A4 2 R XK (C)4km RERFEE P
63 25 hA EA ThoF Vob 2 R K (C)4km RERPERE P
64 264 KHA #EH Th 5 Yas% 1 B XK (C)4km REARTE[R
65 1816 He Z5F 41 744 1 B XK (C)4km R
66 1815 I E#E= A¥'I IRy 1 R XK (C)4km R
67 1817 FIl EX Thh'™ Y4 1 B XK (C)4km R
68 1819 Rk BEA wh 7R 1 B X (C)4km mpEh
69 1821 INI BEARER A’ hysnn 1 B X (C)4km R
70 1340 WiE BE Y+t nvv 3 B XK (C)4km HFEYth
VAR XAX EL ThEN YOV 3 R XK (C)4km NJAC
72 8 Sf & A3L7 by 3 R XK (C)4km NJAC
73 9 Kea BZE IR42 Y7 3 R XK (C)4km NJAC
74 10 i\ EH ZY a9b 1 B XK (C)4km NJAC
75 11 WE - v/ A94F 1 B XK (C)4km NJAC
76 12 =18 1EXHE 17% Y340y 1 R XK (C)4km NJAC
77 1688 Eith HER NALf 197 3 B XK (C)4km T
78 1689 Wi EE YIhD Y1y 3 R K (C)4km TR
79 103 hE &N Thyv 19k 1 R XK (C)4km TR
80 1692 KHEE £A YAA" nvb 1 R XK (C)4km Tk
81 1695 EH & #44 eat 1 R K (C)4km T
82 13 ik [E INVRV/ 2 B K (C)4km KURS
83 41 B fEX EhY 94 1 FE K (C)4km TA)=r7=%
84 39 HME EX YAN Tt 1 R XK (C)4km TA)=r7=%
85 1193 sy A EOEILES 3 R K (C)4km ALL/\
86 1179 WK xFH YYEh 3% 3 R X (C)4km ALL/\
87 1180 +E BEX a9Y'N F44 2 B XK (C)4km ALL/\{t
88 99 STl IR 4747 LT 3 R X (C)4km FirstStep
89 94 A B Y7 F Javtd 1 R XK (C)4km HKkeh
90 1746 ki EE #h Y3 1 B K (C)4km HK e
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BF /hF D)1km
NO K% 7Uh+ FE EH LEF Bl

1 13 FiE A Thh'% 19k 6 & H (D)1km MAIVT-AEWL
2 4147 =H MR 5 %93 6 HE XK (D)1km HULHWT=HEFAC
3 14 12E 18 795 90 4 R K (D)1km AN

4 15 =28 795 Yy 2 HE XK (D)1km HAL /N

5 4601 I #5EER Y34 fuyon 1 B XK (D)1km EOST

6 4602 LA 1&E Y8 vy 4 R K (D)1km EIS57

7 4678 Hd xR 4+h A9ARE 5 f K (D)Tkm K B/
8 4473 R EM EEWAIN 5 HE XK (D)1km HEARJAC

9 4884 Wik &R Eoyw MELD) 6 HE K (D)1km HEARJAC
10 4516 HH EXE EVZ UYL ily] 6 HE XK (D)1km PEMBESC
11 4347 Kl Xig THoe To14 6 HE XK (D)1km RUN7 Y Xk
12 4356 T & IVEh 3F+ 6 HE XK (D)1km RUN7 Y Xk
13 4998 o ERMA YI9°F +Heb 3 HE XK (D)1km RUN7 X+
14 4869 AR (2t TYEr 2914 5 HE XK (D)1km RUN7 S X+
15 16 RA EX HhEM 7454 6 HE K (D)1km NJAC

16 17 [RE 3 NIF 47°% 6 HE K (D)1km NJAC

17 18 hF EE Thh7 YanAy 6 HE K (D)1km NJAC

18 19 HES 5 E4h 40 5 B K (D)1km NJAC

19 20 MHE ER 1574 493 5 B K (D)1km NJAC
20 21 KR EH wvhT Lok 5 HE XK (D)1km NJAC

21 22 WE #E %) 193 4 R K (D)1km NJAC

22 23 KE FEX Th7)77 )an4 1 B XK (D)1km NJAC

23 24 iR 2B 19%h YA 4 R K (D)1km NJAC

24 25 R EEKER E34Y 4507 4 H K (D)Tkm WEARRELEH77
25 26 BAE B 74Y bEb 6 FE K (D)1km KURS
26 27 b B2 Thia7 Va9 Ar 6 HE XK (D)1km KURS

27 28 BHE [EAER YA4 3409 6 HE K (D)1km KURS
28 29 F b mEs) 7F0S 24 2 XK (D)1km KURS
29 30 #h BKE Tha 493 4 HE K (D)1km KURS
30 31 ERN EE MEDTF YT 3 B K (D)1km KURS

31 4159 B &KX @ IVREDE! 4 R K (D)1km TAY=F7=%
32 4160 B EX Eh'Y 44 5 HE XK (D)1km TAY=F7=9
33 4856 EHE BT Y4 731% 6 HE XK (D)1km TAY=FI-%
34 4192 il . 59 Nk 5 HE K (D)1km TAY=FI=%
35 4169 = (g - NYx V)7 5 HE XK (D)1km TAY=FI=9
36 4186 MAE B/ TR NVIRY 5 H XK (D)1km TAY=F7=9
37 4187 SFH EiR T4 744 5 HE XK (D)1km TAY=FI-%
38 4181 P NI 4=%b 19 5 HE XK (D)1km TAY=r7-9
39 4189 £E R 4917 1% 4 R K (D)1km TAY=FI=%
40 4812 = =f 29Y°Y a91)39 4 HE K (D)1km ALL/\{t
41 32 2% E=H wv/ 2% 4 FE K (D)1km ALL/\{t
42 33 2% RH w9k 4 HE K (D)1km ALL/\{t
43 4446 HLE R 491 Y1y Ry 3 HE XK (D)1km FEL/TR)—Y
44 4439 =) B AT AL 5 R K (D)1km FELTR)—Y
45 4431 KH KEZE Tha 744 6 H K (D)1km FEETR)—Y
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ZTF —fi% (A)3km
NO K% 7Uh't Fip Eix LEF FijE
1 2361 g A#55 by IFL B K (A)3km RE AR BET
— L
ZF @K (B)Bkm
NO K% 7Uh't FE EH [EF P&
1 1111 Kt ¥B *97 %3 2 R K (B)Bkm ] =
2 1112 A DERE Y7 F $¥h 2 R K (B)3km GECE=
3 1113 AR BE 77% Tha 1 B XK (B)3km GBS
4 1114 FIE %EB NR'E V) 1 B X (B)3km =
5 1222 A B&EE th'4 nibh N (B)3km BEAERS
6 1224 Bk DE 79Fh" 134 3 B XK (B)3km BEAEES
7 1225 T P AEZ IR 3 B A (B)3km EAERS
8 1227 BRI EFEE 1417 ¥4 2 B K (B)3km BEAREES
9 1228 NG RE 1Y Yuh 2 # K (B)3km EAERS
10 1229 HE EEB FAYR H4Y 2 B XK (B)3km BEAEES
11 1230 RBH BE 7h4 Lt 2 HE X (B)3km ERAEES
12 1231 iR 212 IV By 2 R K (B)3km ERAEES
13 1233 Na B hoa" Yy 1 B XK (B)3km RERAEES
14 1234 BA FHE hZEb V1) 1 B K (B)3km BEAERS
15 1236 w EmE TYNY )yl 1 f X (B)3km EAREES
16 3531 AEF Z ¥/ 139 1 FE K (B)Bkm TAU=F7—%
ZF H=F (C)3km
NO K% 7Uh't FE ZH (EH FilE
1 135 Hh #Htk 4%h 17 2 HE XK (C)3km HEH
2 136 o YI9'F 744 2 K (C)3km h&EH
3 138 TH B EVZ Y 2 HE K (C)3km hESH
4 139 KA ER 247 IR 2 R XK (C)3km h&EH
5 628 Hd % 4+h 41 2 R K (C)3km Ry B
6 124 ER BE ING 1t 2 HE XK (C)3km LR
7 150 s 5K Yy HI 1 R XK (C)Bkm LR
8 263 #hH EK Ths %% 2 R K (C)3km HEH
9 268 AHE FF t1449°0 ht 2 B K (C)3km REr
10 272 L5 X1t 91) TUh 1 HE K (C)3km HET
11 276 #HE EfE YFNY b 1 HE XK (C)3km AET
12 278 AR FHE $hER /Y3 1 B K (C)3km HEH
13 218 IME B g a4 2 HE K (C)Bkm 7 ==
14 222 a3 B ANy 1t 1 B K (C)3km Z [
15 225 A EE $h4 h)y 1 B XK (C)3km Z[@h
16 298 Bl 2% t3% 747 2 B XK (C)3km fRr
17 1 a5 20 v/ 73 3 R X (C)3km R R
18 2 IH FK £74 *M 1 B XK (C)3km 8 B
19 77 AIE YIY Y 1 B K (C)3km BEH
20 201 HEE #HEH /04 38 Hiv /04 1 HE XK (C)3km BEH
21 1192 ® e N AN 1 B K (C)3km EEARG
22 56 BAX EF NYEM 33 1 HE K (C)3km RUN7 X+
23 59 HEEH FHZE YF4 )T 3 R XK (C)Bkm RUNT7 X+
24 186 ErRK EIK Y% 14 2 HE XK (C)3km L &R
25 189 EH F A 3t 1 B XK (C)3km L &R R
26 190 kRO WRE Yhy'F U7 1 R XK (C)Bkm L &R
27 191 TH ARE YEY MR 1 HE XK (C)3km L &R eh
28 193 Lt FIEAZ L3hz )77 1 B XK (C)3km &R eh
29 862 EF i2FE% 5INg £F4 2 R K (C)Bkm F e
30 911 AR B VUESEY 1 B XK (C)3km FLEEHEF




31 915 i = =Yh7 74Y 1 R K (C)3km FEEHS
32 665 EIl 1aEFE Emhn 79h 3 HE K (C)3km FihEgh
33 674 rE FE 9ING 11 1 R XK (C)3km FithEgh
34 20 Wik EH YA V3 1 R K (C)3km BEEATEES
35 42 X% RBEF Y/ )3 2 HE XK (C)Bkm R
36 45 mEE Y3 2 R K (C)3km R
37 1422 nE a&F DUERES) 1 FE K (C)3km HfEth
38 1421 AIE BLHR YIZ 4% 1 R K (C)3km Rt
39 4 F2E WbBh N3] AFh 2 R K (C)3km R
40 1424 TE KB £3/ 4+ 1 R K (C)3km R
41 44 el EE 115 #M 2 R K (C)3km mpEh
42 1419 RO BXEF NFTF EF2 1 R XK (C)3km R
43 3 H LE X4 &7 3 R XK (C)3km NJAC
44 4 HE FU IR 3 R XK (C)3km NJAC
45 5 #h tE tha ntx 3 B XK (C)3km NJAC
46 6 =% DIt MRS EM 2 B K (C)3km NJAC
47 7 WA EF] YIEN I 2 B K (C)3km NJAC
48 250 Bk &I D%4h Y1) 2 R K (C)3km T2 R R
49 248 & E% Ivth 193 2 B K (C)3km TR
50 251 8 BH 1M 1) 1 R K (C)Bkm TS
51 252 ik HE Hho L7 1 FE K (C)3km TR
52 254 Bith zAHY NALf 13 1 R K (C)Bkm T
53 8 MR FwmDHTE EINT )N 1 FE K (C)3km KURS
54 983 XA 0 YA Fa3 3 B XK (C)3km ALL/\{%
55 1032 WK Ei IYES vF 3 B XK (C)Bkm ALL/\X
56 988 i EIE NOLELY 2 B K (C)3km ALL/\ X
57 991 ZEm AR VL EVES 1 R XK (C)Bkm ALL/\ X
58 83 ®RIE Ny nb 2 B K (C)3km HisK &h
59 84 KH EHE %4 NI 2 K (C)Bkm K &h
60 1413 fill B Fh¥v 34 1 _EE X (C)3km ke

XMNOA—RIFDT THBLEEN, BF (BHER) . KF (FXF) DADHEEETEMNLEY  RITFHICLT
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Z¥+ /ME (D)1km

NO K% 7Uh+ FE ZH LEF Bl
1 4382 KirfE & TAHhT 7Uv 2 6 HE K (D)1km HEARJAC
2 4381 ® OPFE N Nt 6 HE K (D)1km HEARJAC
3 4718 Mk BERD YA BT 4 R K (D)1km HEARJAC
4 9 hE & Thow 71 2 HE K (D)1km PEMBRESC
5 4709 AR =) WAL 1%n 3 B K (D)1km RUN7 < Rk
6 4283 rtH —F 1) ¥4 6 HE K (D)1km RUNT7 Y X+
7 4291 o 2% YvI'F Ly 5 f K (D)Tkm RUN7 L R+
8 4295 MIE HOK YAN FHE 4 HE K (D)Tkm RUN7 L Rk
9 4310 ix bE Thyh 1 3 R XK (D)1km RUNT7 Y X+
10 4309 Fix #N5% Thyh F1 3 R XK (D)1km RUNT7 Y X+
11 4435 EE WA 7Y 1V'% 2 HE XK (D)1km PEMRESC
12 4460 AHE Ht 4890 Lt 4 HE K (D)1km WEARREELEY77
13 4462 IRE BRE ¥h4 1)+ 4 HE K (D)1km WERELE)77
14 10 #H e Th'a AZh 6 H K (D)Tkm NJAC
15 11 BAX i NES V1Y 6 H K (D)1km NJAC
16 12 KE il T497 Jun 5 HE XK (D)1km NJAC
17 13 HiR R 2047 )y 4 HE K (D)1km NJAC
18 14 B+ A Thh7 V7Y 4 FE K (D)1km NJAC
19 15 AWl XRE 1)¥v 31 5 HE XK (D)1km NJAC
20 4503 KR BE 7% £X7Y 5 f K (D)Tkm ZHIGR
21 16 T EF Ivh7 3 5 HE XK (D)1km KURS
22 17 nE BiaE ¥t Yh 6 HE XK (D)1km KURS
23 4694 B E#'x 4 13 5 HE XK (D)1km TAY=F7=9
24 4105 ®B#E TE Th) TYE 6 HE XK (D)1km T-Project
25 4660 HA R 4Fb XY 6 HE K (D)1km ALL/\{%
26 4663 LR #HEBE YYEh #5 6 FE K (D)1km ALL/\{t
27 4664 HE KB L3h3 7HY 5 HE XK (D)1km ALL/\{t
28 4761 =i EM NODES Y V) 5 HE XK (D)1km ALL/\{t
29 4355 Bt F75 4)91 1%) 6 HE XK (D)1km EFHTR)—Y
30 4362 = VIR 977 4 R K (D)1km FEL/TR)—Y
31 4360 HE & L3hz )y 5 HE XK (D)1km FEL/TR)—Y
32 4365 JKHEH EEFI Th'4 ¥l 4 R K (D)1km FLTR)—Y
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